EARAROBEEIERT — 2 N— IBISH —F

2012512898 (H) 15@%&IL4H

m 3WMEMT 1 ¥5FR3K BRI R
[AE£] 1 %&:170,000 @ ~ 2% :34,000 M  3#&:17,000H  47%:800MH / 5%&:0M
WmEHR MK ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
SULIN— A F— # 3 SEG*ET)EX 1:22.6 4-5-3-1 |38.4| — 1 551 %f(ﬁg‘)lﬁﬁ*ﬂ;?fﬂﬁl\
. = FURARL
R:TIRRaxAL BIUEII=— ) B9 TRk
TSR A — # 3 | EEER 1;(233).2 5-4-4-3 [39.0| — | 4 | 459 %é??@;ﬁﬁfg)
RiA—INHTr B:VLAKII 07| s
TJLTYLTEY T f 3 | ERES (11213/25> 1-1-1-2 397 — | 5 | 432 /Jm\éaggi (&)
LI RIANT 0N B ILTULTELR 2 o e
VAT i 3 i{lé%ﬂ% 1:(234).2 3-3-2-3 | 40.1| — 3 413 Eﬁgg (G=1N)
RSSLRATH b BYAFE R ) m ==
5lglg| 2oy Fek 3 é%‘f%ﬁ;lz 1( 724t>2 7-8-8-7 |39.5| — 2 466 giﬁ%é% (&)
L TFIRAAEFL U RLA—EI— R e
6lglg|HINVITL-—> 4 3 slﬁ“ﬂg?ﬁ*-ﬁﬂ 1:(214).4 7-7-6-5 | 39.8| — 9 418 ?\ﬂiﬂiﬁ(ﬁm
. ¥ _
L TFRT A~ BT A 2 | m@mzay K
7 3| UT—KTLH fo3 | B 1:(235).0 2-2-56 |40.9| — | 6 | 439 g@%t_taﬁgm
RFEy K27 BUT—KYLLT ) | gpas yo—k
gl7l7| 77728 -1> e 2 e 6-6-7-8 |40.7| — | 7 | 433 E;?E:EB (W)
R:xg—1)>J/O—x B:d-22anysa— (-5) TIXTT— L
9/5l5|I-IKIF-Y2 3 glif’aﬁ 1:(266).4 9-9-9-9 |41.2| — | 8 | 425 Eig% (&)
L RE—R v Bid— K — | s
® I—F—@EBIERL
13—7+— 1,3,6,2,4,7,(8,9),5
Ao=5"= 1,3,6,4,2,7,9,8,5
T =35r= 1,6,2,4,3,9,7,8,5
41—F— 2,1,(4,6),9,3,8,7,5
[ N5
B 2 120M 794K 2-4 280M & 2-4 490M JEE 1-2-4 1,230
# B 2 100M 1-2 4104 B E 2-4 4008 EE 2-4-1 2,230
4 140 1-4 1,190H B H 2-4 540M
1 160/

ABICOVWTRDTEEERROODE. TR LIV,




